Chapter 12 Problem III (+1)



Name _____________________

Show all work to receive full credit!

22. When the temperature of a rigid hollow sphere containing 685 L of He gas is held at 621 K the pressure of the gas is 1.89 x 103 kPa.  How many moles of He does the sphere contain?

23. What pressure will be exerted by 0.450 mol of gas at 25(C if it is contained in a 0.650 L vessel?

24. A child has a lung capacity of 2.20 L.  How many grams of air does her lungs hold at a pressure of 102 kPa and a normal body temperature of 37(C? Air is a mixture, but you may assume an average molar mass of 29g/mol for air because air is about 20% O2 (molar mass 32) and 80% N2 (molar mass 28).

25. What volume will 12.0 g of oxygen gas (O2) occupy at 25(C and a pressure of 52.7 kPa?

27.  What is the difference between an ideal gas and a real gas?

29. Determine the volume occupied by 0.582 mol of a gas at 15(C if the pressure if 81.8 kPa.

30. If 28.0 g of methane gas (CH4) is introduced into an evacuated 2.00 L gas cylinder at a temperature of 35(C, what is the pressure inside the cylinder? Note that the volume of the gas cylinder is constant.

62. If 4.50 g of methane gas (CH​4) is introduced into a evacuated 2.00 L container at 35(C, what is the pressure in the container?

